

[bookmark: _GoBack]QUESTION 1: Indicate the most correct answer by making a cross on the answer sheet:
1	Teams usually go through a number of consecutive phases when it is established. The following are possible phases that will follow each other: 
A	Forming, performing and adjourning
B	Storming, forming and transforming
C	Forming, storming, norming, performing and adjourning
  	D	Storming, performing, norming, mourning and adjourning

2	Triple bottom line reporting focuses on … 
A 	profit, productivity and human rights.
B	environmental aspects, human rights and labour legislation.
C	profit, environmental and social aspects.
D	productivity, labour legislation and social aspects.

3	Which of the following statements is incorrect? 
A	To reduce unemployment and promote economic growth, the government should spend more.
B	To reduce the level of inflation, businesses should try to minimise price increases.
C	It is the responsibility of government to solve problems such as child labour and corruption.
D	Business should never get involved in social programs that are not sustainable. 

4	Which one of the following could be regarded as unethical behaviour?
	A	Employing unskilled workers as manual labourers
B	Increasing prices
C	Selling substitute products at a lower price
	D	Negotiating with competitors to sell products at the same price

5	The DRIVE technique is used to solve problems by…
	A	breaking  the problem into smaller components and then analysing them
B	driving to the site where the problems occurs and then following a hands-on approach
C	analysing the problem and different solutions before implementing the solotion and analysing the succes of the solotion	
D	implementing the solution and contingency plan at the same time to obtain optimum results

6	Which one of the following will NOT be considered a characteristic of the Informal Sector?
	A	Owners often have limited education	
	B	Businesses have continuity of existence
	C	It is mostly involved in secondary and tertiary activities
	D	It is unregulated		

7	If a business lists on the JSE, it means … 
	A      the JSE will buy any shares not sold via the prospectus.
B	the JSE will make sure the business will act in an ethical manner.
C	shares are bought and sold on the stock exchange.
D	shares can only be sold with the written approval of the shareholder.	


QUESTION 2: Provide one word / phrase that will describe the following concepts
2.1.	A written record of matters to be discussed at a meeting			
2.2.	If two or more people work together and the outcome is bigger than the sum of their individual efforts.				
2.3.	If two members of a team want to fulfil the same role and this leads to conflict.
2.4 	Unexpected and unplanned for events taking place in the business environment.
2.5	The “dream destination” of the business				
2.6 	A continuous increase in the general price level of goods and services. 	
2.7 	Money used government to pay for goods and services the services that are given to society. 

3	Discuss how Porter's Five Forces Model can be used to strategise for events taking place in the market environment. Give practical strategies that (business) can use to create or maintain a competitive advantage. 						15


4	Pick n Pay attributes a large part of their success to their “No Name Brand strategy”. Explain how Pick n Pay has used the P’s of marketing to achieve success. Refer to at least five different P’s in your discussion.			15


5	Discuss THREE methods that a manger in (business) can use to resolve conflict situations.                                                                                                              12

[bookmark: OLE_LINK16][bookmark: OLE_LINK17]6	Explain FOUR methods that the manager of (business) can use to empower employees deal effectively with customers.						12

7	The Human Capital manager in (business) believes the development of intrepreneurial skills are very important.
a	Do you agree with the manager? Motivate your answer.			8
b	Do you believe it is possible to develop intrepreneurial skills? Motivate 
your answer.										10 	
8	“The success of Clicks Holdings Ltd is influenced by aspects such as how it is managed,  the legal personality of the enterprise and the liability for the debts of the business.”   Briefly explain this statement.					      (12)


9      The Clicks management team is currently considering starting more Primary Health Care clinics at those stores that have pharmacies. Before implementation, however, it is important for them to keep in mind that there are many stakeholders that will be affected by such a program.  Identify ONE such stakeholder in each of the three environments (Micro, Market, Macro) and explain how they could be ADVERSELY affected by implementing such a program.                                                          (12)
           
												

